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�#�� ��	� �
� �������� �������� ,���� -��,. ��� �
� �������� �� �
� ����

�#� ���� ���	
��� �� /������ ����� �
� ������� �� �
� �������� "������ ����
-�"�. 	�������� �� �� �
� 	������ �� ���	� ��������� ��� �
� ������	� �� ��0�����
�� �
� ���� &���� ��� �"� ����
�� �������� -����.%

�����#��� �#�� ������ �
� �������	
� ������� �� 1��0����� 	�������� ��	
 ��
2������  ����� �������	� �
�� �
��� ��, �������� 
�� ������� �� ������ ��
��#�������� �� �� ��0����� �� �#��� �
�� �
� ���� ���
� �� �  ��� 	�����	�% 3
�
����� �4���� �� 
��
1��0����� 	�������� ��	
 �� 5���	� ��� 6���� �� ������	
 �
�
2����� ��#��� 
�� ���� 
� �#�� � ������ �	�����	�� ��� ������	�� ������ �� ��#��
�� �
�� �
�� 7������� 	����� �
� )������8� 2�����+ -7�������� ���9.% 
�	����� ��
��� �
��� �(	
���� ����� �������� � 	����� 	�����	� ��� �(������	��� ��4�����
��� 
��
�� ��0����� ��#��� ���
� 
�#� � ����� �4�	��: $��� ��� �
� ��������� ���� ��
	��������#��� ��� ��	��� ��� �
� ��;	������ �� �
��� 	�������� �� 	������ ��0�����
����� �
� ���� �� �
��� �������� ����	� ��������%

3
� ������ �� ����	�� ��� ������ �� ��0����� ��� �
� 	�������� �� �
� ����
&��� 
�� ��#����� ���� ������������ ��� ����� 	�����#������� ������� ���� ���

�
������	�� ��� ������	�� ����� �� #�� % 3
�� ����� �� � ����
�� 	����������� ��
�
�� ���� ���� �����	������� 	��	�������� �� �
� ������	� �� ��0����� �� 6����
������ �
� ��,% 3
� ������� �� �
� ����� �� �� ��#�������� 
� �
� ��0����� ����
���	��� �� ����<�������� ��������� ���� ������ ��� ������ ���� �� �
� �	�����%

3
� ������� �� ��0����� �� 6���� ������ �
� ������ ��9�1�= ���
� �� ���	�����
�� ����	����� �
��� ��4����� �
����% 3
� 89�� ��� 	
���	����>�� �� � ������ ��1
	����� �� �
� ��0����� ����  
��� �
� ��
�� � � �
����� ��������� �� �
� �(	
����
���� 	����� �� !�������� �����  
�� �
� 6������ ����  �� 
��#��� ��#����� ���
���	�� �� ���#� �
� �������� �������� !������ 	��������� �� �
� � � ������ ��
�
� ���	��� �� 	������ ��0����� ������ �
� 8=�� ��� �
� 8���%

&� $��� ����	�� �
� ������	� �� ��0����� �� 6���� �#�� �
� �
��� ��	���� ���1
	����� �
� ��, ���� �� 	��$�� �
� #������� �� ���������� �
������� ��� �%�% 5��1
������ ��� !������� -����.% 3
� 
��
 ��0����� ����� �� �
� 89�� 	���� �� �(�������
�� �
� �(���������� �������� ����	� ������� �� ������>� �
� 	���� �� $���	� �
�
��� ��� �����	 ����% 5���
������� ��  ���� ������ ���������� �� 	������� �
�
	������ �� ��0����� �� �
� 8=�� ��� 8��� �� �
� ������ �� �
� ���
� �������� ����	�
������� �� �
� ���
������� �� ������ �
� ��*�	��#� �� ���	� ���������%

�����		� -����.� 
� �#��� 	����	�>�� �
� �������� ��������������% 6� ��	�� ��
����� ��� �
� ���������� #�� �� �� �4�	��#�� �
� ����	� ���������� �
���� �� �
-������� �(�������. ������ �� ������ ��� ����<�������� �� �
� ����� ������  ���
���� �� ��0�	��� �� ���	�� �
����
 	
����� �� ��������� ������% �����		� ������
�
�� ��� �
��� ����������� ��� <����������� ��� �
� ������� ������% 3
�  ���
��	����� �� �
� 	���1���
 �(���������� �� ��� �
� 2�#������ �� �
� ��#���������
������ �� ���� �� �������� �� ��#�� �� �
� ���� �
�� ��0����� ������	� 	����� ��
�(������� �� �������� �
������� ����%

?��
�� �
�� ����� ��#���� ���
��� 
�#� ��	����� ���������� � ����1��� -����1
��#�. �������� ��� ��� ��0����� ��� �
� ������� ��� �����*�� �� ��% -����. ���

�



�������	� �
�����% �#�� �� �
� ���� ��� 
��
 ��#��� �� ��0����� ��� ��������� � 	���
��� $��� ���
�� ��	���� �
�� ���� �� ������� 	���������� ����	��� �
� ������� ��
��	���� �� �
� ��;	������ ��� ���	�1������� $��� �� ��*��� ���	�� �� �� ��0��������
��#��������  ��
 ��	������� �����������% �����*�� ��� @������ -����. ������
	������������ ��	
��<��� �� ��#�������� ��	
 ������	�� ����� �� �
� 29 �	�������
 
��� �����*�� �� ��% -����. 	��	������� �� �
� 	��� �� &��������% �����		� ��
��% -����. ����� �
� ���� ����� �� 6������ <�������� ���� �#�� �
� ������ ��9�1
�=% 
������ #��� ��4����� �������� ������� �		�����  ��
�� �
�  
��� ������
������� �
�� $�� � ������ ����1��� �������� 	����	���� �
� 6������ ���	� ����(�
���� ����� 	���� ��� ������ ���	��% 3
� 	����	���� ��� ��� �
� ������ ���
��0����� �
��� ���� ���
� �� �
� ��������	� �� �
� ������1���� �4�	�� �� ���	�
������	�% /������� -����. ���� �������� �#����	� �� 	���1���
 �4�	�� �� ��0������
�� � 	����<���	� �� 
��
�� 	��� �� 	������ ��� �� �� ��	����� �� �
� �������� ����
�� �
� �������� ���
������� �� �� ���������� ��� 	������ ��0�����% 3
�� $��1
��� �� 	������ �� #�����	�  ��
 �
� ���������� ��������������  
�	
 ���������� �
�
������� �� ��0����� ���� �� �������� �
�������%

5���� ��� A����� -����.�  � �� ��� �(	���� � ������ ��� �
������	�� �(�����1
���� ��� �
� 6������ ��0����� ��� ��	���� ����	����� ���� ���
 ������ ��� ������
����� �� �
� �	�����% 6� �����	�����  � �����#� 
� ��0����� ���	�� �� ����<�����1
��� ���� ��� �
� ���� ��	���� �� �
� �	�����B ����� ��� 	����� �������� �����
��� ���#�	�� ������� ������ �������  ��� ��� ���	� ���������� ������ ���	���
�(	
���� ���� ��� �����	��#��� �4�	��% �<���������1	����	���� ����� 
�#� ����
�������� ��� ��� �� �
��� ��	����% ��	���� �� �
� 
��
 �������������� �� �
� �����1
������ ���� �
� �������� �� ��	
 ��	��� 
�� ���� 	����	��� �����������  
��� ���
�
� ����<��������� ����� 
�#� ���� �������� �� � ���#������ ���������� ����� ���
��0����� ������	�%

5���
������� ����������� 	
����� �� ���� ��	���� �� �
� 6������ �	����� �	1
	����� ������ �
� $��� ����� �� �
� 8=��� ������� �
� ����������� �� 	
����� �� �
�
�<��������� ��������� ��� �� �
� ������	 �#������� �� �
� #��������  
�	
 �����
�� �� ��������� �� �
� ������	�� ��������% ?��
 �
� �(	������ �� �
� ������
������ �� �
� ��� �������� �� �����		� �� ��% -����.�  
�	
 ����� �� �� ������
�#�� �
� ������ ������� ��� �
� ������	�� �������� 
�#� ���� 	����	��� ����������
��� �
� � � ���1������B ��9�1��=� ��� ��=�1���=% �����#��� ��� ��4����� �������
�� 
�� ���� #��� ��;	��� �� $�� ������ ��� �	�����	 ������������� ��������� �#��
�
� 89��� ����	����� ��� �
� 	����� ��� ����� ��	���� -���� ����� ���� ��
����
/�������� ����� ���	������ ��� ��>��� ����� 5������ ��� �������� ����� ��������
��� 5�#���� ����� &������� �� ��%� ���C.% "����<������� �
� ������	� �� ��0�����

�� ���� �������� ���������� �#�� �
� � � ���1��������  ��
 ������ �#����	� ��
��4����� ��������� �� �
� ����<�������� �� �
� � � �������%

3
� ����� �� ������>�� �� ����� �% 6� !�	���� �  � ���	��� �
� ���� ������ ��
�� �����>�� ��� 
��
���
� ���� ��������� �������� �� �
� 6������ �	����� �#��
�
� ��#��������� ������% 6� !�	���� �  � ������� �
� �<��������� ���������  
�	

���
� 	�#�� �� ����������� ���� �� �(�������� �
� ������	� �� �
� 6������ ��0�����%

�



!�	���� C �������� �
� ������� ����� ��� ���	����� �
� ���	��� �� ����	���� ��
� ������ ��� ������������� ����� ��� �
� 6������ ��0����� �#�� �
� � � ������
�������% !��� ����	� �����	����� 	�� ���� �� ����� �� !�	���� C  
��� !�	���� '
	��	�����%

� ���
������ �������
���

3
� ������ ���� ��� <�������� �����#������ 	�#����� �
� ������ ��9�B� �� ���=B�%
&� ������� �������	�� ���#�� ���� ��	���� �� �
� 6������ �	����� 
�#� �(����1
��	�� ����������� ����	����� 	
����� �#�� �
� �
��� ��	���� ���	����� �
� ����%
6� �
�� ��	����  � ����0� ���	��� �
� ���� �	�����	 �������� �
�� 	
���	����>��
�
� ������ ������ ����� ��#����������%

3
� ������� �� ��0����� �#�� �
� ������ ������ �� 	
���	����>�� �� $��� ��1
	������� ��� �
�� ���������� 
��
 ��#��� �#�� �
� 89��� ��	������� ��#��� �#�� �
�
8=��  
��� �� ��� <���� ������ ��#��� �#�� �
� 8���% 3
�� �� 	���� �� �����#���
5����� ��  
��� �
� ��0����� ���� ��� �� �������� �� $��� ��4����	�� �� �
� ���	�
����	����� ��% 6� 5����� �� �
� ���	� ����	���� ��� �
� ��0����� ���� ��� 	�������
 ��
 ��#�� ��� ��� �
 ���� �� �
� ����� ������ -�� ��� ���� �����	��#���.% 3
�
#��� ������� ���
 ��� ��� ��� �
 ����� �� �� ��� �� �#�� �
�  
��� ������ �����1
����� �
� ����� �� �
� ���������� �������������� �� �
� 6������ ��0����� ���#���� ��
5�������� ��� !������� -����.% &		������ �� �
�� ��������������� �
� �(����������
�������� ����	� ������� �� ������>� �
� 	���� �� $���	� �
� ��� ��� �����	 ����
�� �
� 	���� �� �
� 
��
 ��0����� ������ �
� 89���  
��� �
� �����<���� ������	��#�
�������� ����	��� �	��� �� �
� 8=�� ��� 8��� 	��������� *����� �
� ��*�	��#� ��
���	� ���������% &� ������� ���� 
� �#��� �
�� �������������� 
�� ���� ��������
	����	�>��%

6� ����� �� �� ������ 	������� ����������� 	��� �� 
������ ������ �� �
� � ��
5����� �� �
� ����� ��<������ ����� -�
� ��#���� ����� #���	���. ��� ������� �#��
�
� $��� 89�� ��� �������� �� �
� 
��
��� ��#��� ����� �
� ��� �� �
� ��	���% 3
�
��	������ ���	��� �� �
� ��<������ ����� ������ �
� ���������� ������ �� �
� ��!
-�������� �������� !�����. �� 
� �#�� 	
���	����>�� �� � � �		��������� ������
	��������� �� �
� � �1�
��� ����� ����� ��� �
� �@� -�(	
���� @��� ��	
�����.�
�� ��9�� ��� �
� ����$	����� �� �
� �������	
� 3����� �� ����% 3
� ��	�����
�� �
� ��� �� �
� ������� ���
� �� ��	����� �� �
� 	��������� ��	����� �� �
�
����������� 	��� �� 
������ �����% 5����� � ���� �
� � �
� ���� ��� ��0�����
���� ������% 
������ ���� ��������� ������� 	������������ �� �
� � � ��� �
�	��
��� �
� ���	�����#� ����	� �� �
� 6������ D���� �
� ���� ��� ��0����� ���� ������
������� ������ 	������� �� � � ��4����� #�����B � ������#� ���� �������� ����
������ ��=�  
��� � ������#� ��� ��� �
� ���� �� �
� ������ ������%

3
� ������ ����
�	�� �����	���� �� �
� ���� 	
���	�������	� �� �
� 6������
����� ������ 
��
���
�� �
� ����������� �� � ����	����� ����� �		����� ������
�
� ��������� �� �
� 8=��� �� � 	����<���	� �� �
� ����������� 	
����� ����	�1
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Dm 

5����� �B ���	� ����	���� ��� ����� ������� �� ��#��� ��� $��� ��4����	��%

1970 1975 1980 1985 1990 1995

-4.00

-3.75

-3.50 inverse money velocity  

1970 1975 1980 1985 1990 1995

-0.025

0.000

0.025 interest rate-inflation spread 

1970 1975 1980 1985 1990 1995

0.01

0.02 bond - deposit rate spread 

5����� �B ��<������ ������ �������� ����1��0����� ��� ����1������� ����%
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5����� �B <������� �� ���� ����� �� ��#��� ��� $��� ��4����	��%

���� �� �
� ���� ��� �
� ����������� ���� �� �
� 	������ ����� �
� ���������
���
��� ��� �
� 	������ ���� ��� �
� ��#������� ��� �
� ��	������ �	�����	 ����1
�������  ��
�� ������% 3
� ����������	� �� �
� ���	� �86����� ���� �
� 3�������
 �� �������� ������	�� �� ��=�� �#�� �� �� ��	��� ������ �4�	��#� ����� � ����1
������ ������ �� �����(������� � � �����% &� �
� ���� ����� �
� ��!� �������
�� ��9�� ��	��������� � ����
�� ��������� �� ���	
 ��=�� �� ����� �� ���� �
�
���<���� ������������ ��� *��� �� ������ $(�� �(	
���� ���� >���%

/������� -����. �������� �
� 6������ �������� ������������ ��	
����� �� ��1
#����� �
� ������ ������ ���� � � ����� �����(������� 	������������ �� �
� � �
�������B ��9C1��=� ��� ��=�1���C% �����#��� ���#���� ������	�� ������� �� 6���1
��� ����� ������ $�� ����������� ��;	������ �� ���������� ������ ��������� �#��
�
� ������ ������ ������ -�������� ��� 5�#��� ����: &������� �� ��% ���C.%

3
� ��4����� ��*�	��#�� �� �
� 6������ "������ ���� ������� ������ ��� �����
�
� $��� ����� �� �
� 8=�� �� � ����
�� �������� 	���� �� �
� ������	� �� � ����	�����
����� ������ �
��� �����% 6� ��	�� ������ �
� 8E�� ��� �
� 89�� �
� ��������
���
�������  ��� ������ 	��	�������� �� ���#������ ����<�������� �� �
� �����	�
�� ��������� ��� �
� <������� �� 	������ ���
�� �
�� �
� <������� �� ������
 �� �������� �� �
� ������������ ������ �� �������� ����	��% 6� �
�� 	����(��
�� ������������#� 	������ �� �
� �(������� �� 	����� ��� � ��	����� ��#�������
	���������  ��� ������� �� �
� ������� ������ ���� ��9� �� ��=�% 5��� �
�
��� 8=��� 
� �#��� �
� 
��
 ��0����� ����� �
� ��	������� �����	 ��$	�� ��� �
�
��
����� �� �
� 6������ ���� �� �
� �@� ��#�� �
� �������� �� �
� "������ ����
��� �
� <������� �� ����� ��	��� �
� ������������ ������ �� �������� ����	�%
!��	� ��=C� �� ������ ������ ��� �
� �(������� �� ��  �� �;	����� ��	������
�#�� �� ��� 	��������� �����	��� -��� �����		�� ����.�  
��� �
� ����#�� �� 	�����
	������ ��	������ 	��������#����� ����� ������ ����	��� � #��� ����� ����	����
�� ���� 
������� �� ��#������� ����� ���� �
� ��	��� 
��� �� �
� 8=��% 6� 5�����
�� �
� <������� �� ����� �������� 
��
���
�� �
� �(���������� ��
�#��� �� �����
����� �
� ����#�� �� �
� 	����� 	������%

!���	����� 	
����� 
� �#��� �� ��� ��#��#� �������� ������������ ��	
�����

�/�� �$0$ 1�	����� 2,3345 
�� �����
 
�� 6������ 2,3445$
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����� ��� 	
���	����>� ���� ��
�� ��	���� �� �
� 6������ �	�����% ���	������ ���
��>�� -����� ����.� �� ��������� ����  ����� ���	��� �����	��#��� ��� ����1
�������� �� 6���� ��� �
� ������ ��9�1���C� $�� ������ ������	�� �#����	� �� �
����	����� 	
���� ������ �
� ��������� �� �
� 8=��%

3
�  ��� ����(����� �� )!	��� ������+� �������	�� �� ��9' ��� ������������
���� ����� ������ ����� ������
�� �� ����� ��� �
� ��	���� �� ����� �� �� ������
�
� ����1��=� ������ ���
� �� �������� �(���������� �� �
� ��4����� ��
�#��� ��
�
� ������ ������ ������ ��� ���� �
� $��� 8=���%

&�� �
��� 	������������� ���� �� �������� 	��$�� �
� ������	� �� � ����	�����
����� �� ���� ��	���� �� �
� 6������ �	�����  
�	
 
�� �� �� 	��������� ��
������	��  ���� ��	
 �� �
��� 	��	������ �
� ������	� �� �
� 6������ ��0�����%

� ��������� �������������  ��! ��!��� ��� ����

��" ���� � 
#� �����!"

3
� ���� �� �
� ����� �� �
�� ���� �
������ 	���� ����������� 	��������� �� � *����
�(��������� �� ��0����� �� 6����% 3
�� �� �� �
� ������ �� A�����8� -����. #�� �
��
�� ������1	���� �(��������� �� ��;	���� �� ���	���� ��0����� ������	� �� �
� ,F
�#�� �
� ���� 	������% 6� �
�� ��	����  � $��� ����0� �������	� �
� ���� ����#���
�
������ ��� �
��  � ���	��� ��� 	������	� �
� ������	�� �������� ��	���������
���� �
� ��0����� ����� ��������� �� �
� ��(� ��	����%

5�������� ��� !������� -����. ������ �
�� �
� 6������ ��0����� �(������	� ���1
������� � �����$	��� 	��$������� �� �
� #������� �� �
� ���������� �
����� �� �
�
������� #������ �� 5�������� -��'E� ��E�. ��� 5�������� ��� !	
 ���> -��E�.% 6�
�		�����	�  ��
 �
�� �
���� �
� 
��
 ��0����� ���� �� �
� 89�� �� �
� 	����<���	�
�� �
� �(���������� �������� ����	� �������  ��
 �
� ������� �� ������>��� �
�
	���� ����� �� $���	� �
� ��� ��� �����	 ����% 3
� ������� �� �
� 6������ ��1
0����� �#�� �
� �����<���� � � ��	���� �� �
� ������ �� �
� 	��������� �� �
�
�������� ���
������� �� ������ �
� ��*�	��#� �� ���	� ���������% 3
� �(	��� �����
������  ��
 �����	� �� �
� ������ �� �
� �	����� �� �
� ���� ����������� ���
�
� 
��
 ��0����� ��#��� �� �
� 89��: �
� )������+ 	������ �� �������� ����������
������� �� �
� 	������ ���� ������� �
� ������ �� ���������� �
� ��0����� ��#�� ��
�
��� �� �
� ��
�� �����������>�� 	��������% 6� ��
��  ����� ������� � ������1
��� 	����� ����� ��� ��� ����� ��� ���	� ��� �
 ������  
�	
 ����� �� ��
	��$����� �� �� ����� ��� ��*�	���� �� �
� �����	���� �������� �� �
� ���� �� �
�
���#���� ��	����� ����<�������� ���� �
� ����1������1��� ����� ������ ��������
��� �
� ���� 	������������ �� �
� ���	� ������	� �#�� �
� ������ ������%

3
��� ��������������� 
� �#�� 
�� ������ ���� ����#��� <�������� �������

�/�� �$0$ &	��7��� 
�� ��
��� 2,3385 
�� 1�	���
 
�� ��
��� 2,3395 ��	 �
� ���
�� �� �
�
�/�
�
 6�*���# �� �
� ��
��
� ������)$ 1�	���
 
�� ��
��� 2,3395 ������� 
��� �
� 	��� �� �
�
����� �	
�� �� �
� �)�
���� �� ��
��
� �������)����$
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������	
��� �� ������  
��
�� �
� ���� �������� ��������������  �� �
� ����
����������� ��� �
� 6������ 	���%

3
� �������#� ������	
 �� �����		� -����. ��� �
� �(���������� ��������
�� ��� �
� 2�#������ �� �
� ���� �� 6���� ������ ������� �� �
� ������ ��#� �#�1
���	� �
��� $���� ���� ����������� �� �
� ���������� �
���� ��� <����������� ���
�
� ������ ��#��������� ���� ��	���� �
�� �������� ����	� �4�	�� ��0����� ����
�
����
 ��	���� �
�� ��0���	� �����	���� 	����% �����		� �� ��% -����. ���
���>�
�
� ��������	� �� ������ ���� �4�	�� �� ���	� ������	�� ���
 �� �
� �
��� ���
��� �� �
� ���� ���% 3
�� $�� � ������ �������� 	����	���� ������ ��� ��0�����
���� �����#��� ��0����� �����1	����	�� �� ���� �
�� �<���������% 7�
�� ���������
	������������ ���� �
� ������1���� �� �
� �	����� ���
� �� ����� �� ���������
���  ��� �������������  
�	
 ������ �� ������������� �����	��#���� ��(�� ���
����	� �����#�������%


����� �
� ���� �� ������ ���� ������	
��� 
�#� ��#���� �
� ��������� ��
�
� <������� �� �
� ����#��	� �� �����8 	����� �� � 	
����� ��� �
� ������������
�� �������� ����	�% 6� ��	�� �
� ������� ��#�������� �� $���	��� �������  ��

�����	� �� ��
�� ��#������ 	�������� ��� �
� 	����<���� ������ ��������	� �� �
�
�����	���� ��	��� �� ���� ����� ���� 6���� �� �� ����������� 	��� ����� �� ���� ���
�
� �(�����	� �� �� ���������� 	
����� ��� �
� ������������ �� �������� ����	�%
5������ ��� ������� -����.� �������� ��� 5�#��� -���9. ��� ����������� ���
5���� -���C. $�� �
�� �
� 	����� 	
����� �4�	��#��� �������� ���	� ��=��  
�	

	��������� �� �
� ��������� �� �
� 	����� 	������� ���� �
� ����� �� 6���� �� �
�
��,% &�������� �
� ����������� ����� 	
������ �
��� �
� 	����� 	
����� 	����
���� � ����
�� ��� ��������� ���� �� �
� �(��������� �� �
� 6������ ��0����� ���
�
�����	������ ����� �
� ��������� �� �
� 	����� 	�������%

A� �#��� �� ������ �� A����� -����.� �
� ���� ������� �(��������� �� ���	�
��
�#��� �� �
� ���� ������ �� $��� ������  
�	
 ����� ���	�� �� )������+ �����
�� �
��� ����  ������ �� ���% �������� �� �
� �(	��� ������ �� ����� ��� ���1
#�	��  ��
 �����	� �� �
� ����������� �����	���� 	�� �� ������ �� �(�������� ���
����	������ ��0�����%

6� !�	���� C ��� �
��� �������� ����	�� ��� ��	����� �� �� �����1	����	����
����� ��� �
� 6������ ��0�����% ������ ���	������ ��	
 � ����� ��� �
� ����<��1
������ ���� �
� ��������� �<��������� ��������� ��� �����>�� �� � 	������������
����� ��� �(�������� �
� ���� ������ ���������� �� �
� #������� ��#��#��% ��	����
�� �
� �������������� �� �
� ����������� ���� � ������ 	������������ �������� ���#��
����������% "����<������� ��� �
� ����#��� ����	�� ���	����� ���#� 
�#� ���� ���1
��>�� ���������� ����  
�� ��	������� �� ��������� �
� ������ ������ �� ���� ����
�		���� �
� ����	����� ������ ������� ���
���>�� �� �
� 
������	�� ��#�� �� �
�
�
��� ��	���� ����� ��#����������%

A��� ���� �  � ������� �
� �������� 	������������ �������� ��� �
� ����#���
�	�����	 ��	����B ������ 	������ $��� ������� �������  ���� ��� ��������1
����%
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������ ��� �%�% ��������
��� ������� -��==.� 2������ ��� 2��	
���� -����.� �������� ��� 2������ -���'.%
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